OPAKOVANT

Jméno a piijmenti: Celkem bod(:
Pololeti, 4. rolnik Hodnoceni:
1. vYPOCITES:
15.2 = 46 .7 = 19.5= 3.39= , 5.73=
55 7 = 2.500= 3.300= 4.200= 2.220=
5.170 = 9.110 = 210:7 = 60:5= © 51:3=
250:5 = 600: 6= 644 = 8:3= 71:8=
2. VYPOCITES PISEMINE:
2 437 6 325 4 809 1775 8 036 7 280 3 946
.6 L4 .3 .3 .5 .9 .7
- - - = - - S 1
63 093 75 209 143 005 850 123 603 500 400 000 i
48 516 900 549 69 774 — 87 445 - 281 099 — 250 832 i
|
|
i
3. VYPOCITES ZPAMIETI:
3 400 + 4 000 = 6200 + 1 000 = 2500+ 2 700 = 1 800 +4200=
2100 + 2 900 = 6 400 —2 000 = 8 7005000 = 5600—3100 =
4 800 -2 900 = 8400-5 900 = 7 400 -2 200 = 39002 600 =
4. DEL PISEMINE A PROVED ZKOUSKU SPRAVNOSTI:
4773:9 | 6794:8 |
1
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